ting our customers




Migration is a challenge..

-
takes about 15 breaths per minute, or 21,600
sight million breaths per year.

services in 3 years that means on average one
very 12 seconds

ators to migrate millions of services in over a three

period, Service Migration must become as natural as
ING.




The WLR Network Switch-off




Delivering voice over the digital network
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Substitutional data products to migrate to...

SOGEA / SOGFAST

Fibre
[ Ten [

Exchange

[

Fibre
(T []

Ethernet (EAD)
Via Wholesale Ethernet
Speeds up to10Gb.

Street cabinet

Lo

Exchange

FTTP
Available via Wholesale Ethernet, WBMC, BBOne
Speeds of up to 1Gb downstream

SOGEA / SOGFAST
Available via Wholesale Ethernet, WBMC, BBOne
Speeds of up to 80Mb SOGEA / 330Mb SOGFAST
downstream

Radio Access

@

SOADSL
Available 23/24 via WBMC, BBOne
speeds of up to 8Mb & 24Mb downstream

Fixed Wireless Access
Planned for Wholesale launch 23/24



Customers feel that they will need external support in the switching process — especially
larger organisations

External support required for a VOIP switch

B We will probably need an external party to
manage the whole process for us

m We will probably need some external support
and advice on some parts of the process

We probably won't require any external support
-we will manage the whole process internally
and deal directly with the

SOHO (1-5) Small SME (6-49) Larger SME (50-249) Corporate (250+)



Identifying and implementing change

E oo T e B A

450 trained sales account teams, 42 dedicated migration specialists, funded inventory reports and
substitutional mapping

]
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Replacement _
analysis |

" Using technical, geographic, &~ = Managing the scheduling,

QoS and use case S design, delivery, physical njeiniel
TP requirements to find the e s install, commission, logical bt
best solution for each circuit - %" migration and end point ' =
migration. % - uplift for each circuit

== Migration.
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